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Define self locking and over hauling. What are
their conditions. Explain it.

AP ffb T Ud AR Bifei T & uRwya
BN | SId T I B, 9Ui DY |

8. Find the length of open and cross-belt with first
principle. 10

g g 9 goT ¢d 9< U8l & oIS
fraTet |

OR(3721d)

A leather belt 200 mm x 10 mm is of density
1.1 gm/cmS. Its maximum permissible tension is
200 N/em’. If the ratio of tension is 1.8. Determine

at what speed it should be run so as to transmit
maximum power ?

Udh dd 200 mm x 10 mm ®; foI®T 89
1.1 gm/cm’ @ | 3if¥reaw ufrde 200 N/em” 2 1
Ife a9 sgurd 1.8 = I Sferaan wfad
daxeT & forg I fare |
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2019(Even)

Time : 3Hrs. Sem. IV - Mech
TOM
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Four questions from Group B, each question

carries 5 marks.

9B 4 ot 9 g & SR <, uQAS U & 9H S3b 2 |

Answer all Four questions from Group C, each question

carries 10 marks.

7u-C 4 wft ar v & SR <, uAS U BT 941 10 36 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR(3721d)

Find the relation between diameter and circular
pitch from diagram.

ARG P Werdar 4 Aarf vad g fu=
3 99 999 a1 |

A screw jack having mean diameter 50 mm and
pitch 2.0 cm to lift 500 kg. Find the torque if

Udh ©h old &I JAHad A 50 HLH qer
fra 2.0 9. @ o9 500 fHala™ &1 WR

JSMAT 81 =01 2B, d@l cfd & 74 FaTd |

OR(372rd)

If a screw has coefficient of friction 0.12, then find
the maximum mechanical efficiency of screw
Jack.

afe wh, BT advr NS 0.12 B A1 ©H, BT
Aftrean AT® gaar &1 99 Fard |

04036

(i)

(iif)

(iii)

(iv)

(d) S=a SirsT
(&) goia ssT
(]) e SISt

A ball and socket joint forms a ..................
(a) Rolling pair

(b) Sliding pair

(c) Spherical pair

(d) Turning pair

2 |

(a1) gouia st
(@) e SirsT
(|) e SrsT
(%) =ffr Sirst

The crank shaft turning in a journal bearing

(a) Turning pair
(b) Sliding pair
(c) Rolling pair
(d) Helical pair

P.T.O
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(xx)  Balancing of machine is done for ................
(a) Minimize the vibration
(b) Maximize the load
(¢) Neutralize the excess load
(d) None of above

(xx) A BT FIAT oo 3 forg

(@) duT B9 B

(@) R &I 3MfSrHwad s

(@) arfaRad IR &1 frard s3A
(]) U HIg TE

GROUPB

Answer all Four Questions.

5x4 =20
il IR 9l & SN © ¥

2. Define turning and spherical pair with an example.

Udh 3180 Afga e vd wwRad Srst >
& gRwATfa & |

04036

(vi)

(vii)

(viii)

5 25404

FAfes ST 98 <l &1 Yol & 449
.............. BIdT 2 |

(@) ¥eha s

(@) wadl aus

(&) amiféres 97

(]) '@ R &I UPHs Al

Cam size depends on
(a) Base circle

(b) Pitch circle

(c) Prime circle

(d) Outer circle

An idler pulley is used

(a) For frequency stoppage of motion

(b) To maintain requisite tension in belt

(c) To change the direction of motion of the
belt

(d) None of above

P.T.O
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(xvi) Hartnell governor is used at ................

(a) Medium

(b) High

(c) Both 'a' and 'b'
(d) None of above

(xvi) BIeSel WA oo

foar <irar 21

(31) 5emq

(@) S=a

(F) <= e R T
(2) SR IS &

(xvii) Porter governor is ...........

(a) Inertia

(b) Centrifugal
(c) Spring

(d) None of above

04036

x)

x)

(xi)

(xi)

7 25404
A differential gear in the automobile is used

(a) Help in turning

(b) Assist in changing speed
(c) Provide balancing

(d) Reduce speed

JAreriasa # sy fr
@ forg SuAlr gar 2

(@) gua ¥ #eg

(@) a7 9<eq

(|) Eged 91

(]) 97 Te™

What type of contact occurs during meshing
of helical gears.

(a) Point

(b) Line

(c) Area

(d) Volume

eferdd TR & e & dRoT
D BIdTl 2 |

@) farg

@) @

@) a=

(]) smaa+
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A gear wheel with 60 number of teeth has pitch
circle diameter 750 mm, find with diagram.

(a) Circular pitch

(b) Module of teeth 10

s AR W 60 <fd @ Ud gdia fra =rw
750 A B O AIRW & AT YT N |
(@) gefra faa

(@) <fa &1 Alsd
OR(37121dT)

A fly wheel having a mass of 4000 kg has a radius
of gyration 2.0 m. What amount of energy will be
stored in the flywheel in changing speed from
420 rpm, 460 rpm.

Udh Yoy gdidl I AT 4000 kg & A1eT
goiv 31531 2.0 m 2, 1 420 rpm ¥ 460 rpm
B WR YAl gdlad A "@faa sof &1 99
fraTe |

skekok
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A gear wheel with 60 number of teeth has pitch
circle diameter 750 mm, find with diagram.

(a) Circular pitch

(b) Module of teeth 10

ue AR IR 60 <fd & U4 gdia fra =rd
750 A B O AIRW & AT YT BN |
(@) gefra faa

(@) <fd &1 Alsd
OR(3121dT)

A fly wheel having a mass of 4000 kg has a radius
of gyration 2.0 m. What amount of energy will be
stored in the flywheel in changing speed from
420 rpm, 460 rpm.

Udh Yoy gdidl I AT 4000 kg & A1eT
goiv 31531 2.0 m 2, a1 420 rpm ¥ 460 rpm
P W Y13 gdlad A d@faa sof &1 94
fraTe |
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